




43 + 20 = 

52 – 30 = 

80 – 5 =

33 + 7 =

65 + 12 =

60 – 24 = 

63

22

75

40

77

36





ВЫРАЗИТЕ

3дм 2см =

1м 3дм =

4см 7мм 
=

8см 7мм=

3м 5дм =

32

13

47

87

35

с
мдм
мм
мм
дм





              
              АЛГОРИТМ РЕШЕНИЯ:

ПИШУ…

СКЛАДЫВАЮ (ВЫЧИТАЮ) 
единицы.

СКЛАДЫВАЮ (ВЫЧИТАЮ) 
десятки.

ЧИТАЮ ОТВЕТ.





Задание:

УЧЕБНИК 

с. 15 № 5 











С одного куста 
МИШКА

сорвал 23 ягоды 
малины, а со 

второго
куста на 7 ягод 

больше. Сколько 
ягод малины сорвал 

МИШКА с двух 
кустов?
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25 – 10 + 9 + 40 – 4 + 20 -60 





Мяу,
мяу,
мяу!




